Calculator Worksheet:
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SOLVING SYSTEMS OF EQUATIONS WITH MATRICES IN THE CALCULATOR
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  ( Put in matrix form using coefficients only (    A= 
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CALCULATOR STEPS for finding the ROW REDUCED ECHELON FORM

1. Convert the system of equations into a matrix, remembering to fill “missing” variables with 0’s.
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Go to the MATRIX menu ( 2ND   
[image: image2.wmf]1

-

x

 ) 

3. Use the right arrow key twice (  (    (  ) to get to EDIT menu.

Press ENTER to edit matrix [A].

[image: image11.png]Hrref
FOWSWaF |





4. Type in the dimensions (rows x columns). For example 3 x 4.

5. Type in the matrix entries from step 1. 

6. When you’re done, go to the home screen by pressing QUIT  ( 2ND   MODE )
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Go back to the MATRIX menu ( 2ND   
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8. Use the right arrow key once (  (  ) to get to the MATH menu.

9. Arrow down ( ( ) to   B:rref(    and hit ENTER.

10. Go back to the MATRIX menu ( 2ND   
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11. Press ENTER to select matrix [A].

12. Press ENTER once more and the calculator will give you the Row Reduced Echelon Form of the matrix. 
13. To get the matrix in fractions (instead of decimals), press MATH , then  ENTER ENTER
14. The solution can be read off from the matrix: 
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Now, you try:

1.
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2.

[image: image7.wmf]14

2

3

3

4

7

3

2

=

-

+

-

=

-

-

=

+

+

z

y

x

z

y

x

z

y

x


3.
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